Muitiply. Write the answer in simplest form,

1.ixz 2. ~2-xl 3.Ex%
6 9 5 8 7 9
4, 18><E 5. i><i G.J—éx-z—]
6 24 15 7 8
7. Describe and correct the error in finding the product
S 5 5x5 25 !
>< — = = = — = 4—
6 6 6 6 6
8. One-half of your CDs are scratched. Of those, one-fifth will not play

properly. You have 40 CDs. How many of them will not play properly?

Multiply. Write the answer in simplest form.

9

12,

15.

Mul

16.

19,

48

Ir 2 320 9 i

L 2—x= 10, I—x — 11, 4—x 1=

12 5 4 21 10 7

28><8z 13. Six 23 14, Slxcil
7 12 5 3 2
Find the area of the shaded region. Explain how you found the area.
5.
i 4in. i 8™

3 I

_3_.n-/y G L

7

tiply. Write the answer in simplest form.

3 2 2
Liiyle . (2] 1. (3] x[2)
4 8§ 125 7 7 5

3 3 2 7 2

=X 6—X 2=
5 4 9
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Write the reciprocal of the number,

7 1 21

1. — 2, —
12 10

Divide. Write the answer in simplest form.

5.§+l—5— ‘:‘».9+E 7_3+3
8§ 16 5 3 9

B.i-:—lZ 9.3+2 10.£-+20
15 7 14 15

TR 12 18 + & 13, 18,3
4 12 7 25 5

14. Describe and correct the error in finding the quotient.

0_50_,23
o 27 27

Without finding the quotient, copy and complete the statement using <, >,
or =, Explain your reascning.

15. 4+ 5 2 4 16. 1+2 2 | 7. 2.2 0 4
7 3 5 10 5
Evaluate the expression. Write the answer in simplest form.
18.l+5+3 19_g+f+1 20.~L1~»¢ —5——3
5 5 9 24 \16 12

21. How many times larger is 2 10-pound dog than a hamster weighing

5
— pound?
g p

22. A digital camera memory card is %full. ‘The card is —§~ full when 375 more
pictures have been taken.
a. How many pictures can the memory card hold?

h. How many pictures were originally on the memory card?
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Divide. Write the answer in simplest form,
i 1 3 5

1. 3—+2— 2, 7=+ 12 3.
2 4 4 8

4, 10+2—2~ 5. 16-»]«»+i4 6.

9 3

7 E—8i 8. 61-:—3i L]
4 4 2 4

10. -~7—-:—5l 1. 10g+3i 12,
16 4 3 5

13. Describe and correct the error in finding the quotient,

4— 4+ 2=
82 .2
5 10
]8—:-4l

3
9i+5—2—
9

X slois =B s sk =B 0
3 3

Evaluate the expression. Write the answer in simplest form.

14, 4L .1 1 15. 102 3L 4 16.
570 2 § 373

17. 43 .33 18 22 .23 19.
s 16 4 773%3

20. 914l 432 21. 4l %3242 2.
3792703 07°37 5

3. . . .
23. How many 32 -inch wires can be cut from a spool of wire that is

100 inches long? Will there be any wire left over? If so, how much?

24. A bag of fertilizer that weighs 183— pounds can cover 5000 square feet,

How many pounds of fertilizer will be needed to cover 27,000 square
feet? How many bags of fertilizer are needed? Explain how you found

your answer,
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2—+3+ 5=
5l + 21 + 3
3 12 4
63+(2E 1_%,)
4 5 13
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